
1/8
NM0328-0608

STHSZG14
Þ¿¬½¸ ²®æ



2/8



3/8

 60 min

A 8x40 x26

B M6x90 x16

C M6x10x13 x16

D 55/12,2x5 x2

E 7x50 x10

F 7x70 x1

G 3,5x40 x30

H 5x30 x6

STHSZG14
NM0328-0608

J D4x13 x11

K D8x13 x2

L D15x18 x16

M D13 x8

N D38x3 x4

P D17x3 x4

Q 4mm x1

5

right or left side.

11

15

58
7

11

13

6

Ladder can be fitted

4

1

2

3

14 9

12

10



4/8

C+M

B+L

N

5

C+M B+L
C

C

4

3

N

5

N

B+L

B+L
B+L

C

C

2

1

A 8x40 x26

B M6x90 x4

C M6x10x13 x4

L D15x18 x4

M D13 x4

1

2

3

N D38x3 x2

B M6x90 x4

C M6x10x13 x4

L D15x18 x4

M D13 x4

N D38x3 x2

N

4mm

C
M 4mm

M
C

109876

2xA2xA

2xA

2xA

2xA

2xA

2xA

2xA

2xA

A2xA

A

2x5

B+L



5/8

4mm

B M6x90 x6

C M6x10x13 x6

L D15x18 x6

M D13 x2

4

5

12

12

Always placed
inside the ladder

E 7x50 x8

J D4x13 x8

P D17x3 x4

C

C

C+M

C

C

9

6

7C+M

B+L

B+L

B+L

8B+L

B+L
B+L

4mm

11

11

2xE

2xE

2xE

2xE

2xP

2xP

2xJ

2xJ

2xJ

2xJ

C



6/8

10

B+L

B

C
M

13

B M6x90 x2

C M6x10x13 x2

L D15x18 x2

LADDER RIGHTLADDER LEFT

Decide which side to attach ladder.

ASSEMBLING LADDER LEFT

6

F 7x70 x1

J D4x13 x1

M D13 x2

K D8x13 x2

L C
M

K
K

4mm

J

F



7/8

D 55/12,2x5 x2

E 7x50 x2

J D4x13 x2H 5x30 x6

7

MAX.MATTRESS HEIGHT

4mm

D

EJ

E J
D

6xH

14

 1/2



8/8

30xG

15

G 3,5x40 x30

8

G G



1/5

 30 min

A 6x30 x12

A 6x30 x12

B 6,5x27 x8

C 10x11 x8

D 4,2x45 x4

E D28 x2

F 3,5x16 x4

G 3x16 x3

H 3,5x20 x8

J 60x30x3 x2

K 4,5x50 x2

L 4,5x60 x4

M 4,5x30 x2

1

B 6,5x27 x8

VL33-106/108, VL33-107/114, VL33-103/119

PIHSBU14, PIHSBU15, PIHSBU17

2

A B

5

1
4

2xB

B2x

B2x

2xB

2x

3

A

A2xA

45

2x

A2x2xA

2

6

6

5

4

1

7

7

3

8

Þ¿¬½¸ ²®æ



2/5

E D28 x2

F 3,5x16 x4

3

5

6

D 4,2x45 x4

C D10x11 x4

4

E

2xF

C

2

2xF

E

E

2xF

2
2xD

2xD

4
2xC
2xC

3

5

6

6



3/5

J 3x16 x3

H 3,5x20 x8

C D10x11 x4

7

8

H2.

2xC
2xC

1

H

H
1.

H

J

J
J

J

H

H

H

H

H

H



4/5

K 4,5x50 x2

M 4,5x30 x2

9a

10a

J 60x30x3 x2

L 4,5x60 x2

11a

K

J

J

L

L

K

K

K

7

7

M

2xM8

A

L

L



5/5

J

L 4,5x60 x2

M 4,5x30 x2

J 60x30x3 x2

L 4,5x60 x2

9b

10b

11b

L

L

7

L

7

LJ

M

2xM
8

Top view

7

 390mm 

 390mm 

B



6,5x27B

1

 30 min

KP50-V7; KP50-V8

PIHSBI1 , PIHSBI14

2

x10

x106,5x27B

C 10x11 x10

D 4,2x45 x4

A 6x30 x18

E D39x20 x4

A 6x30 x18 F 4x30 x4

G D10x15 x6

H 3x16 x3

J 3,5x20 x8

1/3

B

90°4

5

1

2

3

3

5

3x

A

A

A

2x3

3xA

3x3x

4

B3x

B
B
3x

2x

12x3

Þ¿¬½¸ ²®æ



C

D x4

5

3

4

4,2x45

x410x11C

E D39x20 x4

F 4x30 x4

2/3

C

C

4
C

3

3

C

F

F

2

E
F

E

E

E

F

2

2xD

2xD

F

E

D



10x11C

6

7

J

H

5

8

x6

G D10x15 x6

H 3x16 x3

J 3,5x20 x8

3/3

5

5

H

5

3xC

3x

C

G G

3xC3x

3x

1

J

J J

J
JH

H
J

J  90° 

90°

2.

H
1.


